SUMA, RESTA Y PRODUCTO

Ejemplo:
Operacion
(4x3 —3x? +x—1)—(x3 +3x? +2x—5) =4x’ —x* =3x* =3x +x-2x—-145=
. =|3x3—6x2—x+4|
Ej.
Resultado | 3x° —6x’—x+4
Solucion 3x3 — 6x2 —x+ 4
Calcula:
Operacion
(x3 —2x* -1—5x—7)+(3x3 +2x° —x+4) =
A.
Resultado
Solucion
(' =207 +5x=7) (3% + 20" —x+4) =
B.
Resultado
Solucién
(x3 —2x* +5x—7)-(2x2 —x+4) =
C.
Resultado
Solucion
(2x3 +x? +x—5)-(3x2 —5x+1) =
D.
Resultado
Solucién
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(3x4+x3—x)+3-(x3—4x2—7x+1):

Resultado

Solucion

2-(3x4 +x° —x)—(Sx3 —4x° —7x+1)=

Resultado

Solucion

(x3 -2x° +5x—7)-(2x2 —x+4):

Resultado

Solucion

(x2—2x+1)-(x2+2x—1):

Resultado

Solucion

(= +2x" —4)-(3x" —x+5) =

Resultado

Solucion
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